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Q1. (a) Explain the components of current account of balance of payments.

(b) Differentiate between intermediate and final goods. Under which category, are “Capital
Goods” included?

(c ) Differentiate between real interest rate and the expected real interest rate? Between
Borrower & Lender, who will gain if expected real interest rate is greater than the real
interest rate?

(d) A person from country ‘A’ travels to country ‘B’ and buys a $100 worth household
electronic machine from a company. The company then deposits the $100 cheque it receives
in its account with its bank in country A. How would these transactions show up in the
‘Balance of Payments’ accounts of country A?

(5,5,5,3.75)

Q1 (31) YA HJer b e WTd b U] o] AR Diford |

@) Aeaadf 3R Sifa axg & o SfaR Fargy | ford 9uft & d8d, "UsivTd avg * nfia
&2

() IRAfIP TS R 3R 30fdrd IRafdd sa X & 7 3fcR § 2 YRSl 3R
FUIGIT & &g, Tl SATT IRAfadh SITel &Y IRATdd &S &2 3§ 31 §, f fbel Ay
BT 2

(@) S A T Ue Afad B T B AR HRT § 3R U HUA I $ 100 T P IR,

gaae-e AR Tiedr 8| Ut a9 S H 3 d & 1Y 30 WTd & T $ 100 HT
TP THI B 3| S P A P YT & WMl B T AT Ha fearg i

Q2. (a) Use the following information (in rupees):

Income (Y) = 1,00,000
Nominal Money Supply (M) = 80,000
Price Level (P) = 20

Calculate the money growth rate required to finance the budget deficit of Rs.10,000 in an
economy.



(b) How do changes in money supply affect the price level? Explain using the Cambridge
approach to the quantity theory of money.

(c) How is revenue generated from money creation? If the government chooses a constant
rate of nominal money growth and maintains it forever, what would be its impact on
Seigniorage? Does it lead to hyperinflation? (5,6, 7.75)
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Q3. (a) What is the demand for central bank money? How is equilibrium determined in the
market for central bank money? How does the equilibrium rate of interest change if the
supply of central bank money increases?

(b) The following financial market data is given for an economy (in rupees):

Currency =1000; Reserves =200; Deposits =2000.
a. Calculate size of money multiplier
b. Monetary Base
c. Money Supply

(c) What are the social costs of expected and unexpected inflation?
(7,5,6.5)
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Q4. (a) Explain the effect of adverse supply shock on price level and output in the following
conditions with suitable diagram:

(i) When aggregate demand is held constant.
(ii) When aggregate demand can be increased.

(b) Define IS- curve. Explain its derivation graphically. Explain the factors causing shift in IS-
curve. Use suitable diagram.

(c) Derive the aggregate demand curve using classical quantity equation?
(7,8, 3.75)
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Q5. (a) Explain the role of multiplier in determining the slope of IS- curve. Use appropriate
diagram.

(b) What are the various stages in the monetary transmission mechanism.

(c) Assume a model of the expenditure sector with no government or foreign sector. If the
savings function is defined as S = -400 + 0.2Y, and the autonomous investment increase by
100, by how much will consumption increase?

(d) An expansionary monetary policy is more effective, greater the interest sensitivity of
investment spending. Explain with the help of a diagram.

(5, 5, 3, 5.75)
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Q6. (@) In Keynesian model, discuss the effects of changes in fiscal variables — increase in
government purchases, reduction in the income tax rates and increase in transfer payments on
equilibrium level of income.

(b) . Given that in an economy
C=08(11)Y
t=0.25
| = 900 - 50i
G =800
L =0.25Y - 62.5i
(M/P) =500

(a) Derive the equation for the IS curve.

(b) Derive the equation for the LM curve.

(c) What are the equilibrium levels of income and the interest rate?
(d) Monetary & fiscal policy multiplier

(c) . State whether the following statements are TRUE or FALSE. Give reason(s) in support
of your answer.

i.  Higher the marginal propensity to consume, higher is the size of multiplier
ii.  If investment is very sensitive to interest rate, then we have a flat IS curve.
(8,6,4.75)
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